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Please check that this question paper contains 5 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 10 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.
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Instructions : Attempt all questions.
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Write short notes on any three of the following :
1) Repetition in Design

(11) Dominance in Design

(iii) Maquette as applied to Sculpture Design
(iv)  Contrapposto

(v)  Balance in Design
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Explain the principle of Dominance in Design.
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Describe the use of Layers in an Image Editing Software.
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Explain ‘Extrude’ and ‘Lathe’ in a 3D Design Software.
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Explain what do you understand by ‘Concept Art’. How does it help in the
Design Process ?
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FEVICOL

The Brand Fevicol uses two colours — Blue and Orange — on its LOGO.
Explain why it uses such a choice of colours.

FEVICOL
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Answer any fwo of the following questions :

1) Explain the concept of Positive and Negative Space in Design.

(i1)  Differentiate between Vector and Raster Graphics.

(iii) In Design, Greyscale is sometimes considered to be the same as

Tone. Justify your answer with an example.
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What is Product Designing with reference to a physical object ? List and
explain the requirements of a successful Product Design.

OR
Design a Study Table for your own room using a 2-Point Perspective.
OR

Draw the staircase given below in 2-Point Perspective or Edge
Perspective.
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Design a poster on any one of the following :
World Wetlands Day

OR
World Water Day
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While taking out a print of a downloaded image from the Internet, Red
Colours had turned to Maroon. Explain what went wrong. How can you
address the situation and correct the problem ?
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